COMMERCE
PAPER-II

Note : This paper contains fifty (50) objective-type guestions, each gquestion carrying
two {2 marks. Attempt all of thern

1. No plarning can start without setting -

{AY  Budget (BY Objectives

{Cy Powers (I None of the above 0
2. Forms of mnixed Econormny consists of O

{A) Public Sector (BYy Private Sector

{Cy  Co-operative Sector {Iy  None of the *

3.  According to which of the following accounting @ e owrers of the business

are considered as creditors ?
{AY  Money Measuremnert {BY¥Q\Co
{Cy Dual Aspect arate Entity

4. Urnder how many headings, W w staternent shows the flow of cash & cash

equivalents ?
a) 1 +
All the following c@

© 3 O 4

5. e U-shaped : except
(A AVC Culye o (BY AFC Curve
{a (I MC Curve
6. ouglas production functon Q=4 K% 1% Exhibits.

orstant retwrns o scale (BY Increasing returns to scale

Decreasing returns to scale (D} None of the above

7. Multistage stratified randorn sampling is -
{A) Probability Sanpling (BYy Selective Samnpling
{Cy  Non-Probability Sampling {Iy  None of the above
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8.  Which of the following are considered output units of a computer ?

{AY  Floppy DHsk, Dat, CD Etc (B} DPrinters
(Cy  Video Display Unit (D% Microfilm
9.  Process of delegation of authority irwvolves

{AY  Transfer of authority
(BY Transfer of resporsibility

{Cy Transfer of authority and responsibility

(I Transfer of key management functions 0
10, SWOT Analysis is used in which of the following marnagerial furu:l@

{A) Organising (BY Decision Making *

{Cy  Motvating

11. Which of the following is the function of dis
() Fixing prices
{Cy  Promotional actvities

12, Product Lines Cowver :

{AY  Gerneral retailer Orne price retailer

(Cy Drepartmental 5to (T All of the above
13. Which one of the follaggfis is not a leverage ratio 7

(AYy To rati® (B} DebtEquity ratio

{Ch erage ratio (I Quick ratio

erind method is also called as -
ay-out method (B} Pay-off method
Pay-back method (T Al of these

14.

15. Human relations approach of Management is assodated with -
{AY  Abrahamn Maslow (B} Elton Mayo
{Cy  Peter Drucker (I Frederick Herzberg

] —0806 4
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16, Attrition is related o :
{AY  Job description {(BY Job Evaluation

{C} Resignation, Termination (DY TPrormnotion

17. The nationalised New Bank of India was later merged with -
{AY Central Bark of India {(BY Bank of Baroda

{Cy Purjab National Bank (I} Carnara Bank

()0

15. The first Finandal Institution set up in India : @ L 2
(A) IDEI (By ICICI

{Cy IREI (T IF%O

19. Which section is not of balarnce of paghe &
(A)  Current Account Capital Account
{Cy  Offidal Reserve Hccxr@ (D'  Loss Accounts

20. Which conference gifer birth to Intermnational Moretary Fund ?

{AYy T

(<

ougyl Conference (BY Round Table Conference

o0ds Corference (I Simla Conference

one of the following pairs is not correctly matched ?
Installation of a Machine : Installation Cost A/c

{BY Relevant Cost: Decision Making

{Cy  Waluation of Share : Purchase of a company

(I} Break-even Analysis @ Margin of Safety
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16. A% (Atrition) #: W RER 8 B?
(ay  we Faedrss (By o 3eruys
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22, Which of the following is not a form of organisation ?

iy Line Organisation ({y Staff Organisation
(iily Functioral Organisation  {Gv) Cormanittee Organisation
Code:
(A G (1), @) and () (B) G (1) and ()
(€ (), (i) and () (D) Oy (i)
23. For profit maximization of a firm we must have
) MC=MR 0

{ify Marginal Cost Curve cuts the average cost curve from belnwo
(4) only ) s true (B) Only 1) s D@m’
{Cy  Both (i} and {ii} are wrong (I Both {3y and =
24, Analysis of variance technigue is nommally use O
Iy  Number of samples are more than tw %
0
)

iy Al the samnples follow Independ
(Y ordy ) is true

distribution with equal variance
nly (i) is true

{Cy  Both {1y and {ii} are true Meither {1y nor {(1i} is true
25. Which of the followin Imi}rstems occured first

{AY Laises - Fare (B} Socialism

{Cy  Comorunism {Ih  Capitalismn
¢

ing events in the order of thelr ocourance -

26,

ormation of ICAI

Accounting Standard 3 {revised)
(a)y @ @) 4o Gv)

By & @ &
@ @ v

Dy @ @ @ )
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25,
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(A) FFa @ e R
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27. National Income may be determined through -
{AY  Income Approach (B} Expenditure Approach
{Cy TProductivity Approach (T¥y  All of the above

28. Standard Error of Mean s defined as,
{AY  Standard deviation of the samnpling distribution of Mean
(BY Average of sampling distribution of Mean
{Cy  Inter-Quartile range of sarnpling distribution of mean
(I%  Correlation co-effident between the sampling distribution DfmeanaG tion

e ar
29. Which one of the following is not involved in the characterstics of @5 Fthics ?
{AY  Business ethics is a dyrnarnic philosophy
(B} Business ethics is based on moral value @ ¢
{Cy  Business ethics influenced by Sodo-Cultural v
{I¥  Business ethics is not inspired by Sodal We ::EQ

30. Management of Sales force involves :

{A) Selection of Salesinan uneraﬁnn to sales man
{Cy  Training of Salesrnan 1 of the above
31. Working Capital cyce involw
Iy Acguisition of raw
(ily Finished goods
(iify Receivables
o vy v

Gy dh ) (v
Wy o @ D (W)

i
r'"J
%S

32, Which of the following needs cormnes last in the Maslow’s need hierarchy theory 7
{AY  Safety needs
(By Self Actualization
{Cy  Belongingness & Love needs
(I Self-esteern needs
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29,

30,
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33. Arrange the following banks in order in which they were established
iy IDEI dy IFO
(iify SIDYEI vy IIEI
(ay @ @ am v
By @ & dv D
(©y @ gh dm v
(DY @ g dvy (D

34, Arrange the following Acts in the order in which they came into ftc*o

iy  The Monopolies & Restrictive Trade Practices Act

iy Indian Contract Act .
{iify The Sale of Goods Act @

{ivi The Foreign Exchange Management Act

Code :
(A ) i & 0 dv) &

(By iy & (vy (D
(C @ an  dm v
(D) vy () @ @

35. Match the fD]lDerLg
List-1 List-11

(Industry) {Investment Iimit)
S¢ E:;erpﬂs.e )  Rs. 25 Lakhs
diy  Rs. 10 crores
or Erderprise dify Rs. 5 crores
rt Orierted Sinall Scale Enterprise vy Rs 1 crore

()
(a) vy @ 4 )
(By vy Oy 4n (i
(Cy vy @ @ b
Dy vy (@ @ @

] —0804 12



33.  Ter dwm e o ad v & ey o ey 4
@ xeiaalaw )y eawiusEl sl
iy Pl (ivy e ania amg
(a) @@ @ D v
(By () @ (v) i
(©y @  an @ v
(Dy @ 4  (v) (i

34,

e afiferrdt oy w aY wpr oy o e wlh

()0

@ uEaRUdd, v
Gy e wiae vap Q ) ¢
i) e s s v

vy e daEee Hue e

@) @ @ 6 )
B @ @ v )
© o @ @ )

(DY vy () @ @

R I s Ci R g g‘f *@

&

35.
et - 11
{ Fefery <m )
{1y 25 FEE ET
(Hy 10wk EE

(i) 5 wEY FUE
(vy 1 &L FE

(d)
(ay vy @ D 4D
(By vy Oy () (i
(Q vy @ d) D
(D} vy (@ 45 @
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36. Match the following

List-1 List-11
{ay Fixed Capital A/c 'y  Residual Income
(v  Deeferred Reverme Expenditure (i)  Arnalgamation
{c}  Resporsibility Certre (Y Current Afc
{dy Combination Movement {ivy  Advertisement for a new product
Code:

@@ ®) @@ (d
(Ay vy ) @ @)

(By ) vy @ 4
(v @ g O
Dy @) @& & i ()
37. Match the following
List-I List-II 4
{ay Average Total Cost Iy Variable Cost 3 of Cutput
{by  Average fived Cost (ify Total Cost +{lmardity of Output
{cy  Average Variable Cost (i} Fixed Coplgt ty of Cutput
{dy Marginal Cost fivi The i%tzﬂ cost that arises from
extgd uni oduction
Coede:

@) ® @ (d
(ay i @ d )

(By & 4 & v
(G @ dl & v @
(D} il vy G 6
33, Match the followd
i List-1I
: &

A guantitative characterstic of an elementry
unit measured on afleast an interval scale
and has value with in fixed finite interval

(i} Any portion drawn from a population

(iify A guantitative characterstic of an elementry
unit that may vary from unit to unit

{ivdi A variable whose values are restricted to
Integer values only

(ay @ an 4 vy
(By vy (i (& @

(Cy @ 4 (v )
(D) il vy @ 4D
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39. Match the following List I with List -II

List-1

(Management Thinker)
{ay Schneidher, Amold E

{by Koehter J. W.

{c}  Bassett, Glenn A
{dy Berlo David K

Code:

@) (b)
@ @ @
® 6 )
© (v ()
O @ @)

List-1
{ay Purchase

{by  Situational
{cy Tersonal
{dy Physical
Coede :

(a) (b)
ay @ @b
(By () (i)
() @
Dy vy (3@

()

(1)

(i}
(3}
(3}

41. Match the followd

List-1
{a)

Cede:

(@ (b)
(A (i) (v
(By (i) (v}

(Cy vy (i
(D} () ()

] —0806

) (d)
{dfly v}
{3 v
() v}
{4
2
thod
) (d)
{3 )
SR
(i
SR

(d)

v}
(v}

(i)

(v}

40. Match the following List I with List -1

List-1I
{(Books)
(I  Organisational Comonunication
(i} Organisational Commurnication
Behavioural Perspective
(iify The New Face of Cormynunication

{ivi The Process of Comonunication

\ 4
List-1I
Purchasing C‘rilseﬂo
MNew Mark
Risk Facto %
LDCB.E[DI\&

(%

List-1I
Iy  Present value of Cash inflow
—Present value of cash outflow
(i}  Yield on Investment

Average Income

{m} Average Inves trment

. Irrves tnent
v Annual Cash Flows

14



39, Ed? 1wt g B ot a1 wt e w g s

T -1 T -11
{ wersr Toremes ) { wEaa )
(ay wEMY mwg i (i EESFEE HE% (Organisational Communication)
(by Y W (i S SRdn. SEETEE T (Organisational
Corarunication Behavioural Perspective)
(cy Hfee wmy (i) HwEm ¥ T BT (The New Face of Cormn
(dy IR Sty R {ivy EuEm wET (The Process of Communicatio

FE @ ® © @

(a) G @ ) (v
(B) @ @ @ (v
(<) (vp G @ ()

(D) iy G @ (v @ *

40. wEdt 1wt g8 B et 1wt e w g Ry < ,
Tl -1
(ay wd ‘

by  Fesf

(cy =rfa

(dy sifaE

I : (a) () ()
(A (I ) ()
(B () [

(<) (G
(D} vy QRUT @

41. Fr QI Y et Aoy Pyaty
Tt -1l
At ars YEd @y Ew vl w gae ey T auEs el i giE gy
Ao e Ha (iy  Fafder ur sy

et e Hay () MREe sy < dma Ngteim
R e A Tt (v TPl ool Twowd
HE : (@ ) © (@

() il dvy @ @

(B @) dvy @O @

(< vy 4 @ @

(D} vy @) @ @
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42, Match the following

List-1
{ay Personality Test
(v Achievernent Test
{c}  Aptitude Test
{dy Situational Test
Code:

@) (& @ ()
a)y vy (@ @ D
(By vy (I @ O
© & v @ D
Dy & g & 49

43. Match the following

List-1

(Financial Institutions)
{(a) ECGC

(v GIC

€y HUDCO

{dy ICICI Bank
Code:

@@ ® @

e

ingy

de:
(ay () () (d
(A) iy G G v
(B} @) @ v 4D
(G @ dily G v
(Dy @ d Gl dv)

] —0806

A) v @ @ 6 (bv
B Gv) @ @ G

© @ V) () i)

O &) O @

List-1I
(It  SkillTest
iy Job knowledge test
(iify Group Discussion
{ivi Trojective test

(Nature of activi

()Q ’

List-I1
I  Urguay Round
) ECAFE

(iify Bretton Wood
{ivi Established by World Bark
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42, wdY T g B w1 wt e w g Ry

Tl -1 Tt 11
(ay Ty FT H (1) "F‘ﬂqﬂg;*g griiia
(R G @y vl w
() EREET W Gy whe @t
(dy et uty (ivh Ty T

FE : @ ® (© (@

(Al vy 4 gy (i)
(B) vy G 4 @ 0
(< @ vy g (i

(™) G @y ) ()
43, w1 WSt H w1 wY ud w g feat @ ¢
Tt -1 Tt 11 ()

(ﬁﬁmw} (ﬁm}

(ay  EELWLEL B T ::@Amﬂc&}
(by wad (i} ffﬁ g

{C} gi%.%% nan £ I_r s

(dy swiwlsmielawt d%
I : () () ()
() (v} @ @D
(B vy @3

S @ (Vi
(D} (v QR AL

dy  EEE pEy

{y  FELuwwi,

iy FereEy

vy deE dE p wnb
: ) @ (d

(A (@) @ @)

(B} iy @ vy ()

(C) @ @) @ )

(D @ ) ) )

] —0804 19 PT.O,



AGRICULTURAL INSURANCE SCHEME

More than half a dozen farm insurance schermnes have been tried out In the past
two and a half decades, but no one has worked. Successive Insurance models proved
unsustainable because they were neither econormnically viable, nor suited to cover the
varied risks that beset crop farming. The Implementing insurance companies have
nvariably ended up paying compensation several times the prerwn collected. The
existing National Agricultural Insurance Schermne (NAITS), which is now sought t

than three times the premium income of Rs. 1,700 crore. The parallel fa
Insurance” scherne, aimed at covering risks ranging froma drop in yleld to
tried out on a pilot basis in the last few crop seasons, has also not work

What neads to berealized is that agricultural insurance is an inh&rently Heated
business because of the rmany risks involved in famming. The forznidSkle tional and
practical probleins that ensue relate to the extent of area that should comStitute the unit
for assessing darnage, and the bench-mark for assessing theflos®inodered, on the basis
of the Incomne that might have accrued to the farmer In t'h hoefice of yield-reducing
factors ke adverse weather, pest, disease, or rLal:ura

45. Which scheme is going to be replaced by L@aﬂm scheme ?

{AY  Crop insurance scheme
(BY Agrrioultural insurance sche
(T} NAIS

{I¥  None of the abov

446,

(By 2 (3 (D) 4

i Income Insurance Scherne is aimed at covering the risk of
Matural Calarmnities

{(BY Drop in yield and poor prices

{Cy  Seed failure

{I¥  None of the above

] —0804 20
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(AY  w fwls s

(By  whmwp vdin sy @
(Cy wrwanis,

(DY z9d & Rl é,,

46, g w g s, W g Iwits o Rl & w d ww awy o et ot o s
X : ey & Yoy Yy

(By 2 (Cy 3 (DY 4
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YRETE ST

(BYy e o el sy el &) wy wiyy

(Cy  #Tw oy Tgrmm g

(DY 2 & fpwlat ug
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45. Which of the following factor{s), is/are a yield reducing factor ?
{AY  Adverse weather
(B} Natural disaster
{Cy  Pest and disease
(D% All of the above

49. Why the Farmn Insurance Schemes are unsustainable ? O
{A)  Not covering the varied risks < '
(BY Farmers not paying prermjum

A g
{C}  No support from Government @
{I%  None of the above Q

50. Which of the following is the criteria for % king the Agricultural Insurance

Scheme ?

{AY  Area

(By Out put @
{Cy  Yield per acre +

(T  Normal Incn@

¢ -0 o-

] —0804 22



48, Yool 40 @ w8 e Ton w8 gy /@ wnw
(AYy Tz g
(By  weEfe o Eewd v et
(Cy  mPopeE e a0

(DY

49, TEY i} é’?ﬁ\f& FETIE et SR T e :fg;-? I AT

(Ay % Takey sy e gy gl o Q

(By  Fermet fepwal oy syt vl 0y

T

(Cy 37 wEEn B vy ot Py
(DY 7798 & g g 0

50, Whrawwny ie¥ie v ¥ YuatEe ¥ g

=

(A) s
(By &
(Cy Wi wEy ey

(T weEp ey

-0 o-
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